INFORMATION TECHNOLOGY &DEPARTMENT OF COMPUTER SCIENCE
Programme : Bachelor of Technology (B.Tech)

‘VISemester Examination, July 2023
Paper : BTCS611PET : Data Mining and Data Warehousing

Max Marks 70 Time 3 Hours
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Section-B

_L[/wl.-'a;(ftepsséKDDcu Jfl&l/?’dl.o 2
_‘g.l/Data Warehouse .i 3

S eolos S OLTP i
_q‘/yl}nd/Support »s1 Confidence .i 4

Draw the lattice & £ item set={A,B,CD} & &> ii

_£/ evaluate d:f Classifier Accuracy .5
_Jf’ﬁ k-means Algorithem .i .6

Ut wfwf Methodologies s  Data Mining i
Box Plot for the given data and visualize an outlier by by using Five number Summary. 7
Sl L

18,34,76,29,1541,46,25,54,38,70,32,43,22
(% similar u;/ XsYS 4 7 ryt“" s3I Observe the given term frequency vector .8
Give your observation in terms of similarity.

X=(1,34,0,04.238,7)
Y=(0,5,0,0,5,14,6,0,0)
minimum 2/ maximum -/ A gf / 1.9
values for the attribute income are $12,000 and $98,000, respectively, map income to the
range [0.0, 1.0]. A value of $73,600 for income is transformed to which value by using
normalization technique.

The various factors affecting the quality of Data. -/ S &5 i

Section—-C
_gj../ y&;d/ u)gf —i¥ £ Data pre processing U~ Data Transformation ss/Data cleaning .10
J S explain St SG¥ 3-teir architecture of a Data warchouse .i .11

-u:l.l.fmaj or Features £ Data warehouse . ii
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-/ Observe f5oiur .12

transactional database D and find the frequent item set by using Apriori algorithem with Apriori

Tid | Items

1 Bread ,Milk

2 Bread,diaper,beer,eggs
3 Milk ,diaper,beer,coke
4 Bread ;milk,diaper,beer
5 Bread, milk,diaper,coke

principle

—Jq/ug.z_nzz@/w 13

Applications of Classification Analysis and how to evaluate a classification model is good or not

sFyS Apply., 3 clusters Z{__; S K-means algorithm .14

Initial points are assigned to clusters as C1={A1,A2,A3} C2={A4,A5,A6} C3={A7,A8}
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